Name:

3rd Grade (Heading into 4th Grade)

Summer Math Packet/ UHA

Dear Parents and Students,

This summer’s math packet contains problems and
questions that were practiced in third grade. In order to keep
you well prepared for fourth grade, this packet was made for
you to keep your math skills sharp. Also attached is a nightly
practice sheet for multiplication and division facts. Please
return the packet, and signed sheet, on the first day of school
(each is worth 50 points for a total of 100 points).



Name:

Multiplication and Division Facts
Due in August
Parents,

Please have your child study their multiplication and division facts each day
for 20 minutes per line below. It is imperative that they memorize these
facts. This assignment will be worth 50 points. I can’t stress enough that
your child must know his/her multiplication facts in order to continue on
successfully in math. Please sign below on one line, for every 15 minutes
your child has practiced. This is due by the first day of school. Thank you!
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Entering 4™ Grade Summer Math Packet

First Name: Last Name:

I have checked the work completed: o

Parent Signature
DO NOT use a calculator when completing this packet.

Write the products: Practice any you do not know quickly.

/\ Name:
fas X
W /

b

YA ( 1 Minute Drill
9x11= 10x3= 5x9= 10x4=  9x5= Ix1= 2x6= 4x8=
8x8= 1x3= 6%x6= 4x2= - 5x10= Ox1= 3x8= 6x10=
9x9= 0x2= 11x9= 10x8= 1x9= 9%x2= 12x11= 1x10=
12x0= 6x3= 4x7= 2x10= 9x8= 1x7= 3x4= 6x2=
3x2= 3x9= 5x4= 12x1= 4x11= 10x6= 10x11= 1x6-=
7x6= 3x5= 5x8=  9x4=

2. Mrs. Count was born in the year one thousand, nine hundred forty-two. In what year was she born?

A. 1429
B. 1492
C. 1924
D. 1942



Which cotrectly completes the number sentences? 53,277 <
A. 49,999

50,400

52,388

61,003

oow

Which number is fifty-two thousand, three hundred nine?
A. 5,239
B. 52,039
C. 52,309
D. 52,390

What is the digit in the ten-thousands place of the number 68,1737
A1
B. 6
C. 8

What is the place value of the 8 in the number 5,2807?

ones

tens

hundreds

thousands

oowpr

Which number is equal to 5,9127?

5 hundreds, 9 tens, and 12 ones

5 thousands, 91 hundreds, and 12 ones

5 thousands, 9 hundreds, and 12 ones

5 thousands, 9 hundreds, 1 ten, and 2 ones

oWy

The number 9,036 is equal to which of the following?
A. 900+30+6
B. 90+30+6
C. 9000+30+6

Which number means 7 thousands, 4 tens and 5 ones?
A. 745
B. 7,045
C. 7,450



10.

11.

12.

13.

14.

15.

Which number goes in the blank to make the statement below true?
5642<  <6,633

6,931

5,610

6,745

5,841

o oW

When counting by 6’s, which of the following patterns is correct?
A. 0,6,12,16,22,28, 34
B. 0,6,12,18,25,31, 37
C. 0,6,12,18,24, 30,36

What number comes next in this pattern 41, 43, 45,47, ?
A. 48
B. 49
C. 50

Which number can be shared in two equal groups with no remainder?
A. 85
B. 490
C. 223

Martina has a new box of 64 crayons. She drops the box and 17 crayons are broken.
How many crayons are NOT broken?
A. 47 crayons
B. 57 crayons C. 53 crayons
C. 81 crayons

How much is 2,470 + 1,423? Show your work.
A. 1,053
B. 3,763
C. 3,893

Remember “bottom bigger better borrow” when subtracting. Do you need to borrow from the tens?

16a. 82 subtract 65 = 16b. 61 subtract 18 =
A. 17 A. 52
B. 23 B. 57
C. 27 C. 43
D. 13 D. 47



17a. 80 subtract 34 = 17b. 85 subtract 64 =

18.

19.

20.

21.

22.

23.

A. 54 A. 19
B. 46 B. 21
C. 56 C. 11

How much are 8,965 subtracting 3,525? Show your work.

A. 5,440 C. 6,440
B. 5,480 D. 12,490
The lunchroom serves only hamburgers and pizza on Mondays. Last Monday, 314 students bought a

lunch. There were 97 students who bought hamburgers. Which of the following is closest to the
number of students who bought pizza?

A. 100 students
B. 200 students
C. 300 students
D. 400 students

The best estimate of the sum of 389 and 403 is:
A. 600 B. 700
C. 800 D. 900

Which division statement is related to 6 x 4?
A. 24 divided by 4

64 divided by 4

10 divided by 6

24 divided by 3

caw

The division 354 divided by 6 can be used to solve which of the following problems?
A. How many school children there will be if 6 new students enroll at a school with 354 students?

B. How many school children will there be in a school if 6 students move away from a school with
354 students?

C. How many tables for 6 are needed to sit 354 people?
D. How many celery plants are planted in 6 rows if each row has 354 plants?

There are 36 pieces of gum in a bag. Mom empties the bag by giving 6 pieces to each of her children.
How many children does she have?

A. 36 divided by 6 = 6 children
B. 36 + 6 =42 children
C. 36 divided by 9 = 4 children
D. 36 —30=6 children



24,

25.

26.

27.

28.

29.

30.

A classroom has 5 rows of desks with 5 desks in each row. Which number sentence shows how to
figure this out?

A. 5+5=10desks
B. 5x5=25desks
C. 2x5=10desks
D. 5 divided by 5 =25 desks

Which of the following is a true statement?

A 8x2=4x4
B. 1x1=1+1
C. 10x3=10+10
D. 6x6=5x5+1

There are 8 socks in Vic’s drawer. How many pairs are there?

A 2
B. 3
C. 4
D. 16

Which of the following is true?

A. 6x3=4x4
B. 20-5=19-3
C. 9+8=10+7
D. 2x3=2+3

Which multiplication fact can be used to find the answer to 56 + 77

A 7x5
B. 7x8
C. 56x7

Susie wants to share 30 candies among 6 friends. How many candies will each friend get?
A 8

B. 7
C. 6
D. 5
What is the missing number in the problem 54 divided by =67
A.

7
B. 8
C. 9

10



31.

32.

89

34.

351,

36.

i

11

What is the missing number in the problem 7x =56
A7
B. 8
cC. 9
Solve this problem in your head: 500 x 6 =
A. 300
B. 530
C. 3000

John had exactly 32 pennies. He sorted the pennies into stacks of 5 pennies each. How many pennies were
left over?

A.37
B.6
C.2
D.0

27 students want to join teams for relay races. Each team must have 4 students. How many complete
teams can be made? Would any students be left out, if any?

A. 5 complete teams with 2 students left out
B. 6 complete teams with 3 students left out
C. 7 complete teams with 0 students left out

May has 10 eggs that she can use to make cookies for the bake sale. Each cookie recipe calls for 3
eggs. How many full recipes can she make and how many eggs will be left over, if any?

A. 2 full recipes with 4 eggs left over
B. 3 full recipes with no eggs left over
C. 3 full recipes with 1 egg left over

Which picture represents the equation 12 + 3 = 47

cese| Il(l'illl ¢ Al A AN
9200 l._l. .l




37. A teacher marks 10 of her students’ tests every half hour. It takes her one and one half hours to mark all
her students’ tests. How many students are in her class?

A5

B. 15
C. 20
D. 30

38. What fraction is shown by this strip?

] TR (S I ER I S

2_3" 3
A B. c. 7 !

39. Which of these two fractions are equivalent? Draw fraction strips to help you figure this out.

1 2 3
2 4 8
mn
244
¥
2 | 3 2 3
e WY s — — BT v—
A2 4 B.2 8 c. 4 8

40. Since 4 x 10 =40, and 40 x 5 = 200, then which of the following is true?
14 x 45=200

4 x 10x 40=200

4 x10x5=200

40x 10x 5=200

Caowp

41. Which two of these fractions are equivalent?




42. Which set shows fractions ordered from least to greatest? Draw a picture.

A L 1,6
4 2 8
B. 1,1,1
2 4 8
€ 1,2,3
2 4 8

43. Which number sentence is best represented by the model below?

|4._.

-
»

A 4

|
|
L
| l

0 174 2/4 3/4 1

Vat2/4=%
Ya-Ya="

Y% -Y=2/4
Ya+2/4="

oCow»

44. Which group of fractions is in order from least to greatest? Draw a picture.
A. 2/2, 3/8, 3/4
B. 272, 3/4, 3/8
C. 3/4, 3/8, 2/2
D. 3/8, 3/4, 2/2

45. Which set shows fractions ordered from least to greatest? Draw a picture.
A. 1/4, 172, 6/8
B. 1/2, 174, 1/8
C. 172, 2/4, 3/8

46. Insert<,>,or = in the following blank lines. Draw a picture to help you.

MO QW

1/5

1/6
4/5

172
2/6

1/9
1/3
2/5

2/4
4/6



47.

48.

49.

50.

51.

52.

53.

14

How many half dollars are there in $4.50?
A. 9 haif dollars
B. 18 half dollars
C. 10 half dollars

Ben, Susan, Alex and Tonya each received Y4 of a dollar. How much is that?

A. $25
B. $.025
C. $0.25
D. $25

Eva has $4.00 to spend on apples. Each apple costs $0.50. How many apples can Eva buy?
2

Cawp>

4
6
8

Which coins does 0.50 and 0.25 represent?
2 quarters and 2 dimes

1 nickel and 1 quarter

1 half dollar and 1 quarter

5 dimes and 1 nickel

Sawpx

Ron, Nita, Donna and David shared $1.00 equally. What was the exact amount each one received?
A. $0.25
B. $0.30
C. $0.50
D. $0.75

Michelle has a string which is 3 feet and 8 inches long and John has a string which is two feet and six inches
long. How much longer is Michelle’s string?

2 inches

10 inches

1 foot and 2 inches
1 foot and 10 inches

SRR

days in a week minutes in an hour ounces in a pound
months in a year inches in a foot seconds in a minute

hours in a day feet in a yard weeks in a year
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54. Mike began his bike ride at 2:40 p.m. and finished the ride at 3:20 p.m. How many minutes did Mike ride?

A. 20 minutes
B. 40 minutes
C. 60 minutes

54, What is the date two weeks after June 87

JUNE
Sun Mon Tuwe Wed The Fd  Suk
1 b S S s 7
g 0% o192 1
A% 6 17 W 1w 20
b S S T N L ST - - I}

2 30 3
A. June 10
B. Junel5
C. June 22

56. Mary has a piano recital on May 25. Today is April 28. How long must she wait before the recital day?

APRIL
Sun |Mon| Tue |Wed] Thu | Fri | Sat
1 Y ] 3 4| 5 [}
7 ] 3] 1)

(L[ 1213
14 | 15 | 1A | 17 | (0 | V6| 20
2 122 | 23 | 94 [ 25 126 | 27
28 | 20 | 20 I )

MAY
Sun [Mon| Tue |Wed| Thu | Fri | Sat

I I O A I
12113t [ 15 |altd (18
19 Poo 2 |22 |25 a0 [25
26 {27 128 | 20 [ 30 [ 31 |

A. 3 weeks 2 days
B. 3 weeks 6 days
C. 4 weeks 2 days

57. Joey is meeting Tom at the movies at 1:45. The clock below shows what time it is now. How much time does
Joey has to wait before he meets Tom?

A. 4 hours 45 minutes
B. 5 hours 20 minutes
C. 7 hours 20 minutes



58.

59.

60.

61.

62.

64.

Kim’s little sister just turned 2 years old today. How many months old is her little sister?
A. 2 months
B. 12 months
C. 24 months

Eric’s disk measures 27 inches. How many feet and inches is that?
A. 1 foot 3 inches
B. 2 feet 3 inches
C. 2 feet7 inches

‘Which of the following represents the greatest length?

A. 10 inches
B. 1 % inches
C. 1'feet
D. 1 foot

Which of the following is the shortest measurement?

A. lyard

B. 2 feet

C. 26 inches

D. 1 foot 10 inches

Write the products. Any that you do not know quickly, practice.

The graph below shows the number of pet fish owned by 5 friends.
Pet Fish Owned

T T
James Doug Beth Carly Luke

What was the minimum number of fish owned by one friend?

A 12
B. 10
C. 4
D. 2

16
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What was the maximum number of fish owned by one friend?

A 12
B. 10
C 4
D. 2

65. It took Lily 35 hours to drive from Michigan to Texas. How many days and hours did she drive?
A. 1day 11 hours
B. 1day 19 hours
C. 3 days 5 hours

66. Brad can long jump 1 meter 9 centimeters. How many centimeters is that?
A. 19 centimeters
B. 109 centimeters
C. 1,009 centimeters

67. Which temperature is hotter than the boiling point of water?

A. 58°C
B. 98°C
C. 107°C

68. Chris just put his grape juice in the freezer to make Popsicles. At what temperature will the Popsicles start to freeze?

A. 32°F
B. 0°F
C. -32°F

69. Brandon and Ashley are building a snowman on their day off of school. Which is the best estimate of the outdoor

temperature?
A. 20°C
B. 35°C

C. 45°C
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70. Which thermometer shows the boiline point of water?

G cm

1Zem

71. What is the perimeter of the above rectangle?

A. 18cm
B. 30cm
C. 36cm

72. What is the area of the above rectangle?
A. 36 square cm
B. 72 square cm
C. 36 square cm
D. 18cm

73. Draw a rectangle with one side 1 inch and the other side of 3 inches. Then find the perimeter of the rectangle.
A. 3inches

B. 4inches C. 6 inches D. 8 inches

74. Find the difference: Remember “bottom bigger better borrow” For example: 52 — 16, the 2 is bigger than
the 6, so you need to borrow from the 5 (tens).

28 34 47 75 64 41 69
-9 -1 -19 -37 -14 -9 -5



75. What is the area of this rectangle?

3 om

g em
A. 1l4cm
B. 14 cm?
C. 45cm
D. 45cm®

76. Which of these squares is closer to | square centimeter? A or B

77. Victor told his friend Kyle that his family moved to Michigan three years and two months ago. Kyle said his
family has been living in Michigan for eight years and seven months. How much longer has Kyle’s family been
living in Michigan than Victor’s family?

A. 5 years and S months
B. 8 years and 7 months
C. 11 years and 9 months

78. Brian’s dad gave him a board that was four fect long and asked Brian to cut off six inches. How long should
the board be when Brian finishes cutting it?
A. 30 inches
B. 42 inches C. 48 inches

79. In gym, Joe jumped 3 feet 4 inches in the long jump. Bob jumped 4 feet 6 inches. How much longer was Bob’s
Jump than Joe’s jump?
A. 1 foot 2 inches
B. 2feet1inch
C. 7 feet 10 inches

19



80.

81.

82.

83.

34.

85.

20

Mary worked on homework for 20 minutes on Tuesday. She worked on homework for I hour and 45 minutes on
Wednesday. How much time did she spend doing homework all together on both days?

A. 2hours
B. 2 hours and 5 minutes
C. 2 hours and 25 minutes

Jim’s cat weighs 8 pounds 7 ounces. Betty’s cat weighs 9 pounds 4 ounces. How much do the two cats weigh
together?

A. 18 pounds 11 ounces
B. 17 pounds 3 ounces
C. 17 pounds 11 ounces
D. 18 pounds 3 ounce

What is 2 minutes and 45 seconds plus 1 minute and 45 seconds?

A. 3 minutes and 30 seconds
B. 4 minutes and 15 seconds
C. 4 minutes and 30 seconds
D. 4 minutes and 45 seconds

Victoria has 15 dollars and 67 cents. If she borrows 10 dollars and 58 cents from her dad, how much money
will she have altogether?

A. 25 dollars
B. 25 dollars and 25 cents
C. 26 dollars
D. 26 dollars and 25 cents

Andy had $9.85. He bought a toy for $5.52. How much money does Andy have left?

A. $3.24
B. $433
C. §$5.43
D. $15.37

Anna had $2.25. She was given $5.50 for her birthday. Anna then spent $4.35 on a new book. How much
Money does Anna have now?

A. $1.15
B. $3.25
C. §$3.40
D. $7.75
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86. Lance has $5.62. If he wants to buy a book that costs $16.95, how much more money will Lance need?

Oow>

$5.93
$9.66
$11.33
$22.57

87. Write the following numbers in expanded notation. Ex. 432 =400 + 30 +2

3,402 = + +

5,325 = + + +

88. Sally is 5 years and 5 months old. Her brother, Kevin, is 8 years and 6 months old. How much older is Kevin
than Sally?

oCowy»

2 years and 1 month
2 years and 11 months
3 years and 1 month
3 years and 11 months

89. Stan wants to buy enough paint to cover an area of one wall of his bedroom. The wall is 8 feet high and 10 feet
wide. How many square feet will the paint need to cover?

A
B.

18 square feet
36 square feet C. 80 square feet

D. 88 square feet

90. Which figure has four sides? (You can look the terms up in a dictionary.)

Sowp

Trapezoid
Circle
Triangle
Pentagon



9]. How many right triangles would it take to make a square? Answer the question below, then show your

answer by making a drawing.

e

~

e
B

A 2

B. 3

C. 4

D. 6

92. How many triangles would it take to make this hexagon?

/N

Uow»
o B
w N

93.

How many vertices are on the cube?
A. 6 vertices
B. 8 vertices
C. 12 vertices

How many edges are on the cube?

A. 6edges
B. 8edges
C. 12 edges

How many faces are on the cube?

A. 4 faces
B. 6 faces
C. 8 faces

94. The shape of on orange is similar to a

A. cone
B. cube
C. prism
D. sphere

22
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95.  What figure has four triangular faces and one square face?
A. Square prism
B. Triangular prism
C. Triangular pyramid
D. Square pyramid

96. This chart shows how many points were scored by members of a basketball team. How many players scored 10 or
more points?

flumber ol Painis Scored.

s

14

2 -

10 g s

A i ,f'.»—-- — 18— —_—f
F= ! L

s = - .

1 s

HH P HH P

& & o f". L

A1 B. 2 C. 3 D. 4
97. 133 fourth grade students were asked what they drink with breakfast in the morning. Here is a bar graph of their
responses.

Broakive) Drinke of Warbie Sahool

[

Woke) Rt A

3-
Grapoliut Julce ] | |

AL iy

1.

Orange Julce [I5

AL [T vl A o e ey S e T T ]
§ (RN PR (Y — () (U — " |
e e e gt

0 5 10 15.20 25 30 38 40 45 50 85.80
Numbar ol 8fuden s

What is the range of this data?
A. 28
B. 50
C.55
D. 60

‘What is the mean of this data? You can use a calculator for this.
A. About 133
B. About 33
C. About 28



98.

99.

Did the museum or the aquarium have more visitors for the week?

A. Aquarium
B. Museum

Humber of Visliors fo Muscum

EEBEEEHEE

C. They are the same.

D. There is not enough information to decide.

Solve each of these without using a calculator:

4x6=

2x9=__
§x5=__
32+4=__
72+9=__
45+9=__

24+3=

4x 6=

8x8=
5x5=
2x2=
Tx7=
18+2=
4x4=
3x3=

6x6=

2xT7=__
9x6=
3x4=
56+7=___
3x8=
&x 7=
3x8=

1x9=

24
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100. What is 500 x 8? Explain how you figured this out, without using a calculator.

101. 23 children are waiting in line for a roller coaster. There are 5 carts that hold 4 people. Will all the children be able
to ride together at the same time?

A. Yes
B. No

Explain your answer.

102. Place the following fractions where they belong on the number line:

214 3/4 1/4

4

103. Place these fractions where they belong on the ruler:

172 34  1/4

T
1




104. Label the following lines: (You can look the terms up in a dictionary if needed.)

T,

A. Parallel
B. Perpendicular
C. Intersecting

105. Which two faces of this cereal box appear to be parallel?

A. Top and right side
B. Front and bottom

C. Front and back

D. Bottom and left side

106. Solve the following;:

1x9= 3x6= ) 9x7=
E&x6= 2x2= 3x8=__
24+3= Tx7= 56+7=

48+6=__ 18+ 6= _ 7x3=

6x2=
9x9=

4x0=

Tx7T=

26



107. Brent planted vegetables in the square garden pictured below.

— — 5 feet

What is the area of the garden?  (Area = length x width)

A. 10 square feet
B. 20 square feet C. 25 square feet
D. 55 square feet

108. What is the perimeter of the shape pictured below?

=

i._

151t

A 171
B. 19ft
C. 30ft
D. 341t

What is the area of the picture above?
A. 17 sq. ft.

B. 19 sq. ft.
C. 30 sq. ft.
D. 34 sq. ft.
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109. Don wants to buy enough seed to grow grass in the patch of lawn that is 10 feet long and 9 feet wide. How many
square feet is her patch of lawn? Show your work.

Answer

110. Find the products.
Any multiplication problem you do not know quickly please practice on flash cards.

111. Kayla read a book that was 54 pages long. She read 6 pages each day. Which number sentence below
can be used to determine the total number of days it took Kayla to read the entire book?

A, 54-6=1
B. 54+6=2
C. 54+6=?
D. 54x6=1

112. All the sections of the figure below are the same size and shape. What fractional part of the figure

is shaded?
A, 0.5
B. 0.25
C. 4/8
D. 5/8

113. Which of the following fractions has a numerator of 3?

A. 172
B. 2/3
C. 3/5
D. 1/3
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114. Bonnie and 3 friends shared $2.00 equally. What is the total amount each of them received?

A $6.00
B. $1.00
€ $0.75
D $0.50

115. What time was it 3 hours ago if it is now 2:00 pm?

A. 10:00 am
B. 11:00 am
C. 5:00 pm

D. 11:00 pm

116. What is the perimeter of a rectangle that has a length of 6 inches and a width of 5 inches?

A. 11 inches
B. 22 inches
C. 30 inches
D. 36 inches
117. Find the quotient

10) 80 7) 14 1) 20

9) 36 6) 30 2760
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81+9=_ 48+6=_ 18+6=__  42+:7=
10+2=__ 54+6=__ 36+9=__  45+5=__
72+8=_ 8+2=_ 72+9=___ 6+1=__
25+5=__  5+5=__ 18+2=__ 30+5=_
12+6=___  4+1= 48+8=__  7+7=

118. Write the following fractions in decimal form. Remember: . tenths hundredths

4/10 = 8/10 = 23/100= 56/100=

8/100 = 5/10 = 66/100= 2/10=

119. Find the sum or difference: Watch signs! When subtracting think: “Bottom bigger
better borrow”

135 546 71 50 304 63 426
+479 +137 -18 -26 +235 -42 -135
i/ 54 135 3.2 8.8 8.1 4.8

+18 -39 -53 2.8 +1.3 =57 -2:6
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2.29 553 113 86 8.04 13.06 8.9
-0.43 - 86 +54 +73 - 0.56 +6.72 -4.7

120. Match the following: Draw a line to make a match.

Four tenths .08
Eight hundredths 3
64 hundredths 4
3 tenths .64

121. Write the following in fraction and decimal form:

Eight tenths = =

Twenty-seven hundredths = =

Five hundredths = =

Five tenths = =

122. Brent and Monique watched a movie without a break. The movie started at 1:15 p.m. and ended at 2:45 p.m.
How long was the movie?

A. 1 hour 15 minutes
B. 1 hour 30 minutes
C. 1 hour 45 minutes
D. 4 hours

123. Which shape has 12 edges, 8 vertices, and 6 faces?

A. Triangular prism
B. Triangular pyramid



124.

125.

126.

127.

128.

32

C. Rectangular prism
D. Rectangular pyramid

Write the number 365 thousand 243 in standard form.

Write the following number in standard form: 3,000 + 500 +30+2 =

Write the following number in standard form: 5,000 + 200 + 3 =

Write the following in expanded notation: 8,325 =

Write the following in expanded notation; 6,023 =

CONGRATULATIONS!!! You have completed the summer math packet. You are now ready

for 4™ grade success! Please turn this packet into your 4™ grade teacher, the first week of school
in August.




